Chapter 12

1. Find f~' for each of the following f .
(ii) f(x)z (x—l)3 = f’l(x)=3 x+1

. =% x>0 Sy JVI=x x>
(IV) f(x)_{l_x3 x<0:f (X)—{\/: xSO
[x]

(vi) f(x)=x+[x]:> f‘l(x):x_7

0 x=0

i) f(x)= xz,—1<X<12f71(x)= Vi+4x? -1
I-x —2 xz0
X

g=/"e f(g(x»: X = f'(g(x))-g'(x)zl chain rule

QED
15. Solution

Look y as a function of x, derivative the equation: 3x° +4x°y —xy*> +2y° =4, then:

dBx’), dlx’y) dbx?) d2y)_ 4

dx dx dx dx dx
dy dy dy
9x )+ 4x2—+8xj+(— Pox-2 -—j+(6 2—j=0
( ) [ dx 7 d dx d dx

since the point (—1,1) is on the curve, thus:

(9x2)+[4x2ﬂ+8xj+[—y2 —x-2y-%j+[6y2ﬂj=0<:>
X

dx

9+4d—y—8—1+2@+6ﬂ=O<:>12ﬂ=0<:>—=0

dx dx dx dx dx



.. the equation of the tangent line at point (— l,l) is y=1.
20. Solution

etg =" o flgx)=x= f(g(x)) g'(x)=1 chain rule




